Unit 7: Work, Energy and Power
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The 2™ Law of Thermodynamics states that whenever work is
done, some energy is converted to heat.
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The Efficiency of a machine is:
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There are no units for efficiency, it is expressed as...
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Ex: A lever is used to lift a 50.0 kg object 10.0 cm. To do this
we must apply a force of 75 N to the end of the lever which
displaces 1.00 m. Find the efficiency of the lever.
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1) A 5.00 x 10°> W electric motor lifts a 20.0 kg object
VE.OO min 3.50 s.,lWhat is the efficiency of the motor?

= 9.00x0 W

Worksheet 7.7: Efficiency

9.4 ”//9)( &S00 w)

Qouct < 4)(&.» . ng)rb\/\: (10.04)(
= 720w

Pau+ é@l_‘, g =

EH’ m’xloof.:Swwxmo/ -

2) If a 1.00 x 10> W motor has an efficiency of 82%, how
long will it take to lift a 50.0 kg object to a height of 8.00
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3) A 955.0 kg car is accelerates uniformly from rest to
16.0 m/s while moving 18.0 m across a level surface. If
the car uses 125 000 W of power, what is the efficiency
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An 8.5 x 10° kg elevator is pulled up at a constant

m? X _o}{' 067 velocity of 1.00 m/s by a 10.0 kW motor. Calculate the
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